
 

 

 

 

 
Directividad: 2.113 dBi 
Ganancia (Realized Gain en CST): 1.979 dBi 
Ancho de haz 3db = 78.8 deg 
 



 
A) DIPOLO  
 
Ldipolo = 0.5 λ  = 56.7 * 0.5 mm =>  
Directividad = 2.113 dBi 
Ancho de haz 3db = 78.8º 
 
Ldipolo = 0.8 λ = 56.7 * 0.8 mm =>  
Directividad = 2.8dBi 
Ancho de haz 3db =63º 
 
Ldipolo = 1.5 λ = 56.7 * 1.5 mm =>  
Directividad = 3.47 dBi 
Ancho de haz 3db = 25.8º  
 
Ldipolo = 4.5 λ = 56.7 * 4.5 mm => 
Directividad = 5.46 dBi 
Ancho de haz 3db = 17.9º 
 

 

  
  



B) MONOPOLO 
 
DIPOLO 
Ldipolo = 0.5 λ = 56.7 * 0.5 mm =>  
Directividad = 2.13 dBi 
Ancho de haz 3db = 78.8º 
 

 
 
 
PLANO MASA = 2 λ * 2λ (“plano” = 1) 
Lmonopolo = 0.25 λ = 56.7 * 0.25 mm =>  
Directividad = 4.4 dBi 
Ancho de haz 3db = 48.8º 
 

  
 
 
 
 
 
PLANO MASA = 10 λ * 10λ (“plano”= 5) 
Lmonopolo = 0.25 λ = 56.7 * 0.25 mm =>  
Directividad = 4.2 dBi 
Ancho de haz 3db = 42.1º 
 
 

  
 
 
 
 



 


